
SSLC English paper solved Part 1 
With key answer 

 

Q. I Four alternatives are given for each of the following questions/ incomplete statements. write the correct or 

the most appropriate answer.      4X1=4 

1. Choose the appropriate question tag for the statement: 

Likhith writes his notes every day ………………………… 

a) does he?      b) did he?      c) doesn’t he?      d) didn’t ‘t he? 

Answer: c) doesn’t he? 

2. Read the given conversation and choose the language function for the underlined sentence: 

Lakshmi: Good afternoon, Ma'am. 

Varshini: Good afternoon, Lakshmi. How can I assist you? 

Lakshmi: I am looking for information about the math club. Could you please help? 

Varshini: Of course. Please take a look at this brochure. 

a) Giving direction      b) Seeking permission     c) Making a request     d) Advice 

Answer: c) Making a request 

3. Read the given conversation and fill in the blank choosing the most appropriate words: 

Raghavendra: You are always late to the meetings. 

Madesh: I apologize. I missed my train. 

Ragavendra: If you had left earlier, you............................missed the train. 

a)  Wouldn’t have        b) will have        c) would have        d) could have 

Answer: a) Wouldn’t have 

4. Read the following and choose the infinitive: 

Lavnya: What's your plan for this evening? 

Rohini: I am going to the park to play with my friends. 

a) going      b) to park     c) am      d) to play 

Answer: d) to play 

Q. II Do as directed:           12X1= 12 

5. Which one of the following words has two syllables? 

Happy, banana, star, drum. 

Answer: Happy 

6. Combine the word in Column-A with its collocative word in Column-B: 

     ‘A’                ‘B‘ 

   Smart            [bridge, class, basket, butter] 

Answer: Smart - class 

7. Fill in the blank using the correct article: 



Bhavana is ...................... brilliant student. 

Answer: a  

8. Fill in the blank using suitable linker: 

......................... her hard work, Shalini scored less marks. 

Answer: Despite 

9. Fill in the blank with appropriate preposition: 

Navya went to London …………………. higher studies 

Answer: for  

10. Fill in the blank with appropriate tense form of the verb given in brackets: 

When Nethra ................................. (be+arrive) at the party, everyone welcomed her. 

Answer: was arrived  

11. Identify the part of speech of the underlined word: 

Dhananjaya likes to eat delicious fruits. 

Answer: Adjective 

12. Write the correct form of the word given in brackets: 

Renu Prasad completed his ……………………… (graduate) from Mysore university. 

Answer: graduation  

13. Use the word ‘smile’ as verb in a sentence. 

Answer: She smiled warmly at her friend. 

14. Change into comparative degree: 

Mune Gowda is the tallest boy in the class. 

Answer: Mune Gowda is taller than any other boy in the class. 

15. Change into passive voice: 

Sagar is playing the game. 

Answer: The game is being played by Sagar. 

16. Read the following conversation and change the underlined sentence into reported speech: 

Dhanush: Hi, Gagana. Are you coming to meeting today? 

Gagana: Hi, Dhanush. Yes of course. I am coming to the meeting today. 

Gagana told Dhanush that ......................................................................................................... 

Answer: Gagana told Dhanush that she was coming/going to the meeting that day. 

Q. III The following paragraph has two errors. Edit the paragraph and rewrite it: 1X2=2 

17. Charan write a letter to his friend and he also shared his experiences with is team. 

A. verb to be corrected B. spelling mistake to be corrected 

Answer:         A. write – wrote         B. is - his 
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